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Chapter 22
Appendix B: Extensions of the Aggregate Expenditures Model
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22.1 The Algebra of Equilibrium
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22.2 The Aggregate Expenditures Model and Fiscal Policy
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Changes in Government Purchases
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Figure 22.1An Increase in Government Purchases
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The economy shown here is initially in equilibrium at a real GDP of $7,000 billion and &éPprioeFarel ),
an increase of $200 billion in the level of government purchases shifts the aggregate expenditures curve upw:
that amount té\E, increasing the equilibrium level of income in the aggregate expenditures model by $500 billi

In Panel (b), the aggregate demand curve thus shifts to the right by $50illibe &xuilibrium level of real
GDP rises to $7,300 billion, while the price levePsises to
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Change in Autonomous Taxes
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Figure 22.2A Decrease in Autonomous Taxes

A decrease of $200 billion in autonomous taxes shifts the aggregate expenditures curve upward by the margi
propensity to consume of 0.8 times the changes in autonomous taxes of $200 billion, orAR.6Dhellion, to

equilibrium level of income in the aggregate expenditures model increases by $400 billion to $7,400 billion. Al
figures are in billions of base-year dollars.
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Changes in Income Tax Rates
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Equation 22.16
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Figure 22.3rhe Impact of an Increase in Income Tax Rates

An increase in the income tax rate rotates the aggregate expenditures curve downward by an amount equal t
initial change in consumption at the original equilibrium value of real GDP found in the aggregate expenditure
model, $7,000 billion in this case, assuming no other change in aggregate expenditures. It reduces the slope
aggregate expenditures curve and thus reduces the multiplier. Here, an increase in the income tax rate from (
0.375 reduces the slope from 0.6 to 0.5; it thus reduces the multiplier from 2.5 to 2. The higher tax reduces

consumption by $700 billion and reduces equilibrium real GDP in the aggregate expenditures model by $1,40
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